
The chart illustrates the amount spent on six consumer good in 

Germany, Italy, France and Britain, 

 

According to the chart Britain spend more than 160 thousand pounds on 

photographic film, toys and compact disks and exactly 160000 pounds 

on perfumes. Tennis racquets and personal stereos have received the 

same portion of money by 157 thousand pounds. 

 

France, Italy and Germany's budgets for these goods fluctuate between 

140 and 160 thousand of pounds (standing in second level after 

Britain). However, (in only one case) this amount exceeds 160 

thousand by France spending on photographic film. 

 

To conclude, as the chart shows British government has got the leading 

place in spending money on consumer goods. 

 

Cam3, Test 2- Task1, page51 

 

By: Sanaz 

 

Comment:  

In describing such a graph , you could focus either on the 4 countries or 

on the consumer products. In this sample the writer has focused on the 

four countries as it is ore viable. Never the less, there are some points: 

1- Fils, toys and CDs do not share the same Value. 

2- How one could guess that the value for Sterio is 157? 

3- The second Paragraph is TOO genral and needs more elaboration 

and expansion. 
   


